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Topic Break Down

Topic

No. of Questions

Topic 1, Transponder, Muxponder, and Circuit Provisioning

14

Topic 2, Fundamentals 5

Topic 3, Basic Operation, Installation, and Turn Up 19
Topic 4, nLight ROADM Configuration 16
Total 54
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QUESTION NO: 1

How many shelves can be combined into a single network element withNCS 2000 multishelf management?
A.50

B. 30

C.25

D. 10

ANSWER: A

QUESTION NO: 2

Which two methods can be used to start Cisco Transport Controller? (Choose two.)
A. web browser

B. Telnet

C. StartCTC application

D.FTP

ANSWER: AC

QUESTION NO: 3

How many slots does NCS 2006 have?
A.6

B.8

C.10

D.7

ANSWER: B
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QUESTION NO: 4

Colorless add/drop eliminates physical port dependency for which wavelength characteristic?
A. bit rate

B. direction

C. protocol

D. frequency

ANSWER: D

QUESTION NO: 5

Which two options are two modes of operation in the 2-port CFP line card? (Choose two.)
A. 2 x 100G muxponder into 200G line card

B. two 40G transponders

C. 2 x 40G muxponder clientinto one 100G line card

D. two 100G clients into two 100G WDM line cards

ANSWER: CD

QUESTION NO: 6

In addition to a summary window, which three windows does the Navigation/Summary Pane contain? (Choose three.)
A. Network Explorer

B. Circuit Explorer

C. Alarm Explorer

D. Quick Links

E. Inventory

F. User Provisioning

ANSWER: ABD
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QUESTION NO: 7

Which two options are the two modes of operation for the 10 port SFP+ line card? (Choose two.)
A. 10 x 10G muxponder client for 100G line card

B. wirespeed encryption

C. 5 x 10G transponder

D. dispersion compensation

ANSWER: AC

QUESTION NO: 8

How many shelves can be subtended from a node controller shelf in an NCS 2006 multishelf configuration?
A.2

B. 3

C.0

D.6

ANSWER: B

QUESTION NO: 9

Which two options are the two basic building blocks of the mesh patch panel? (Choose two.)
A. MF-MOD-DEG-5

B. MF-1x16-COFS

C. MF-4x4-COFS

D. MF-MOD-UPG-4

ANSWER: AD
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QUESTION NO: 10

What does setup do with passive units?

A. They are skipped.

B. It returns an error.

C. ltinserts a placeholder in the rack diagram.

D. It prompts the user for more information.

ANSWER: C
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